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M C =170, D=187 — 17 = 170, 0] Ig
C LR, LA
MA=17%x2, B=17X5, A+B=17X2 +
17X5 = 119,

8. (48, 72, 54) =6
486 + 546 + 726 =29 (i)

TR 603 =20 (A)
B TFE: 60-12=5(AN)
FEETR: 60-5=12 (N)

B TR — M ENR
L LA (AT 14 2 4 3 -+ 2000 + 2001 —

I 1000 MEECH 1001 DA%, (8185 =
%L, 1000 MEEH I EEL, T8+ A=
HE B+ F B =350 1001 DB EAHTINA
A TR SEL )

L 2. 1338 ()M BRI R A

1% PR A HESIY, B —dHAEA A
2 ANZFBOR 1 M4, 2006+3 = 668 (41 )+
2 (), ABUE 2, X NEERE AL, 668X
2+2=1338,)

34 b mTADIE, BRI

AR, MEREZA 44)

4,23 [ HUREIR, 9 (9+ 8+ n) xXns

2 =460, Bn (n+17) =920, H K 23X
(23 +17) = 920, fFlhn =23, ]

L mem o i
BANEMERNAMERMM | 5. M n RWEEEE, n(n+2) —n(n—2)

120, f#fS n =30, 5 n HEETE.
Mo B, BEXANECh x, W (x4 1) x —
(x— 1) x =120, f#fHx =60,

FFEAATEL, BORAEK, IrA7 E HAEZ 0,
1, 2, 3, 5, HEETF PR, MY
ZHRR 11, HECFEZ AN 34, X HAFA
Bz fl 11 4 34X10 = 351, )

.o



7005 [orHr: ARG R+ R = A U ke,
SeAm B TR SCE (2 5T, 4 5L, -,

GHEAT BT SCE (15T, 3 5T, -+, 1501),

WA R PP = OO R, SoRElE,

SNA 4 RSCER B — AR e AT SR, iy DA% 5. KR e, M3 (2 +a) =2(94+4a) ., I

o SCRE ) B — TR A U B SO e 2 02 7 +
4=11 ()]

8. REWHAE HHLFI 1001 + 1000 = 2001 :
(B0)e PN ERREREH 2 MLkl 1 Mo,
B AR — D 1 MO, 857 1999 A, i
) 2001 — 1999 =2 (#) #+F. WKRENTE :

BB T RS, g o O T =

URAEE 2 MOHETAT AR RS G«

BOMCBBL T ARG N . Sl 1 [F) 2
B, XREND T IMCRELT; TR
BPFEEAG, XRENZ T IBCRE T

QFEEIY 2 B ER, B1E T H.

e RIS T PR NS 22
10. 4—9 rtr: WA Fim b 1453801, BrlAisa

T 1 HERHLT
LRI, AR, K@M B

BT 1999 Wk, BIECAE T 1999 WA HM)E, b
TIFF BOBCRAL A O RGN HFR 2 Mo+,
FIr e m S 2 MO 1 2R 1 A
9. & (rfr: XATEETI A T40E: 0, 1, 3, 8,
21, 55, 144, 377, 987, 2584,
— MEEA A EAER B, 703 =23+ 1,
5570 NEUEEE 24 ARV —AE SR %L )
10. 6027 [ 43 #r: 1 +2 4+ 3 + 2 =38,
1006 (), 10068 = 125----+- 6,
(2007, 2009, 2011), W5 — 455 N E 4
Bz Fk 2007 + 2009 + 2011 = 6027, |

BITiRHAS3 PEHERERMNI A
1.(754+5) - (44+1) =16
16X1—5 11
16X4 64
2.(23—3) -~ (243) =4
2X4+3 11
T 3x4 12

3.(066—3) = (14+8) =7

® - 100

14 57),
RFIAT 7 R SR AR — A RO, SRR

1 it
o BRMEEUR D1 (10 + 12) X632 + 12X8 = 162 (em?)
2.7 1
1L
LA B 8 A K — R R, 201052 + 1 =
1~2011 :
Hd JE 6 A A A (2001), (2003, 2005), © 31284 + 12816 + 12864 = 42 (F )54 )
L4 LRSI ABCD [ K A8 43 51 R A WA IE

3,147 om® (ERAME—,

EFRHF L (BS)

71 7

8X7+3 59
F4.(2545) = (24+43) =6
: 2X6 12

3IX6—5 13

L Ha=12

6 XA a, M5(17—a) =2(35—a),
5 a =5,

©7.86—9X2 =068 68+ (8+9) =4
4%8+9 41
4%X9+9 45

11 +4=15

4
ii/l\ﬁ}%i&%l—s .

£ 0.274+6—-3=30 30+ 3+2) =6

2X6—6 6

3IX64+3 21

BT L, S L 20, SR T
%o, %uﬁ%%ﬁ%&%%o)
SO HAEEIENmR

o1 & P B

15X15 — 15X6+2 =180 (cm*)

(24 —8) X (8X2) +2+ 8X8 =
192 (cm?®)
2 (24 +8) X8X2+2 —8X8 =
192 (cm?)

IR RN 50+2 = 25 (CETJESK ) , K
MBI 1422 =7 (JEK) . BN 25 =
4X4 + 3X3, UK 4 5K, %
3K, KB ABCD fTHIFIE 4X3 = 12
CF K )

U2 RGN KD
S 19 18 12
£ 2.10X10X35X0.48 = 1680 (Jt)

(BRAME—, FHETA)

(BRAME—, GHEIA)

A RERPAT)



4.32%10X10X0.54 = 1728 (T )
(BEAME—, GHERPA] )

5. ¥ 4% BE, 16\ ADE 1A ABE i, AN AB = '
64D, JIF LA S, = 6Spuppe TEAABE FI AABC
i, NN AC = 34E, UL Spusc = 3Snuse, BT

PL S, upe = 6X3 = 18 (“FI7JHK ),

E3UEm AW, FJi Tk
L) Fhk (2) Pk
(3) FHEK  (4) FIork
2. (1)6 (2)11  (3) 1500
(5) 25000000 2500
3.1 5= 10000 -5k
(100 + 100) > = 40000 (F)5K )
(40000 — 10000 ) 10000 = 3 ( /i)
4. (30X20 —180) =2 =210 (*FJ5k)
210 F K= 0.021 i
5. 84 2mf= 141 14 Bf— 10 Bf= 4 i
3.5%X8000%4 = 112000 (m*)
112000m” = 11.2 /35

BRI —KREFNAHAEERMWER
1.(1)B (2)A
2.(1)75 (2)200

(4)1.7

(3) 36

3.(1) 15X10 — (5" + 5°+2X2) =100 (*FJ5

JEK )

(2)30Xx4+2 =60 (FIEK)

(3) (44+4+6) X6+2—(6—4) X
42— (6+4) x4+2=18 (em’) (=
ANfE—)

(4) 4.5 FJrEK [ 08 $EIESHIE 5
B 24 NSRS = MY, AL AT

MR 12524 = 0.5 CEHEXK) , =M
MNP th &4 94, 0.5X9 =45 (FHExR) ]
(5) BB AL N D, WA+ C+ DR
FORRIETER—F, RIS, +S.+ S, = [2 (a+ :
b)l x [2(a+b)] +2=2(a+b) X (a+ :
b), XSg+S,=2(a+b) X (a+b), F:
PLSy,+ Sc+ Sy =8, + Sp, f4H S, + S.=:
Ss, BIBSEIRSS A C IR Z AR 7 F )5 ok,

BriRA2—KPEZ B ER

1. (1)Cc (2)A

2.(1)6 (2)12 (3)24
3.(1)6X6+ (64+9) X3+2— [6+2X

9+2+(6—2+9)x(6+2)+2]=255(m")

(2) 15X20=2 = 150 (FHE K )

o = *

(3) (10—7) X (442) +=2—(10—7) X
2=73 (FJEXK)

(4) A ABC WEENEHfM —fIE, WEDN 2X2+
2 =2 (FHK), FrLALLAB A KHIEHIE
AR 2X4 = 8 ((FHK ) o IR A S,
HEE R AT A ADM W 5/ =, FF
PAA ADM (TEIFC K 8+2 = 4 (FJ7k ) . [AI3
AffEA MNE BYTEFE 1 X222 =1 (CGFik )
LA a4 + 1 =5 CGEIK) &
(5) NI R 18X3+2 =27 (em) , K
KA N 27X5 = 135 (em) , $& i 18X3 +
27 =81 (em) , KEFEMEFA 135X81 =
10935 (em®) , /MSHTEMITHIRLA 27X 18 =
486 (cm’) , BRZHAAYIEALR 10935 — 486X
22 =243 (em’) .

G IR

<3 87315 T 7 QT 3
S (1) FE—: 6X100 + 3X50 =750 (JC)
LR (6+3) X80 =720 (7T)
720 < 750 TR A
(2) HZE—: 4X100 + 3X50 =550 (JC)
L. (443) X80 =560 (JC)
560 > 550 HER—AHE.
2.(1)52+4=56 (%)
56 =32+ 12X2
FHL 13K E 4N 2 8 % 4 A 25 0o
(2) 4X90 + 52X 45 = 2700 (JT)
(52 +4) X50 =2800 (JC)
20X50 + (52 4+ 4 —20) X45=2620 (JC)
2620 < 2700 < 2800 4 % #INFI 16 44
SEHESEAREE, T4y 36 oA Lo g
X
(3)A: (52+4+4) x35=1960 (JC)
B: (524+4)=(10+1)=5(4) 1CAN)
(5X10+ 1) X40 =2040 (JC)
C: 4X40 + 52X30 = 1720 (7T)
1720<1960<2040 #E# C BB TAE.

L2t BB LA

1. (1)8 10 14 2n+4
C(2) (52—4) +2=24(5)
(3)2x48 +4 =100 (N\)

2. (1)55 (2)12 3.B



SHIWRE 25555
12k 6 Hig, 9 Hb,
2. =84 26 — 10x2 =6 ()

FATE: 10— 6= 4 () ORIITERME—) |

3.112+14 =8 (R)

(20X8 —112) = (20— 12) =6 (K)

4. ARG 1 ANz 34>, ZNFIG 3 Az 14,
JRLA AN KRN A 3 A/ IR A 1 41, 3
74 MBSk 1004 = 25, Uil 25 41,
REAAEA 1 AKFE 3 AS/NI . FreAik
A 25 N, /AMFIA 75 N

5. 354 10 Fhgk, 4302 ABCDE, ACBDE,
ACDBE. ACDEB, CABDE, CADBE,
CADEB. CDABE. CDAEB. CDEAB. Hf§
ALY D TR R R AT .

HBILRA—BEZWIB R [RE % 65

1.40X2=80(H) 24+4=6(H)
. (80 —32) ~6=8 (H)

. 40 —8 =32 (H)

2.2X26=52(H) 274—52=1222(H)
24+4=6(H)
fi: 222+6 =237 (H)

. 37 +26=063 (H)
3. BEFEZE . 324 — 108 = 20 (4H)
Hh: 32 —20=12 (&)

4. (20X5—64) +~ (54+5+2) =3 (if)

20 —3X2=14 (i#)

30=7(H )

B0 % 30 KUt 4y 4 R M, O HEAT: (52 —
30X1) + (2—1) =22 (H), ¥if: 30— :

22=8(H)
7.7f=0.77C, 3fA=037JC, 2/i= 0270,
2162 fi= 212 JC,

SEHFZRAIAS (47 — 2x — x) A, RGNS

(47 —2x —x) X0.7 + 2xX0.3 + 02x =212, :

x=9
SEZFhESIA ., 2X9 =18 (A)
SEH A, 47 — 9 — 18 =20 (A)

8. Mt WA X, R (B

RS (A ) (15— (30 —x) ], B

® - 102

P
S 1.C
2R SRR RICH, WL 9

L35 4D
S5 ORIERE, BN 7=14+6=2+5=3+4, A

EFRHF L (BS)

(x —15) I8,
x— (24—x) —10=8(30—x) —2(x—15)
x =19
H—KAEr: 5X19— (24 —19) =90 (4))
BRASr: 90 — 10 = 80 (4))
ko nlEerk
s
FHERE HAB I, e, (BRARME—)

E1RHEA12=64 6, ITLLHALAPEIEA IER

G BRI
LB @

: 1
45515 =—
: 3

(2) Mg

1+3=4(H)
. 404 =10 () Hff. 10xX3=30(4)

2.C 3.D

| BTIR I —— i ZR BT B
S1L(1) A
2 AR 2,3, 7, 8 RIS, A

(2) A

YITEM: 2, 332, 75 2, 8 3, 7; 3, 8 7, 8,
o R RS AT 3 A, e — P AR R A1
A 1R, TR,

EEARME— 0. ATER A 7 a9,

5. (800035 —268.6) —~ (035+25) =4 (H) 3..(1) 5% [ 10012 =28 (J&) -+ 4 (N) ]

6. B4 e, MBI AT . (37X8 — |
236) + (8 —6) =30 (), BrEA 37 —

(2)95 [ /0Hr: 10012 = 8 (& ) -eeeee 4(N) ]
(3) 15 [/#7: 15612 = 13 (J&), HBHTE
15 Fr, 14312 =11 (J&) - 11 (A,
HAT7E 2 %5 F i, 10712 = 8 (J&)
(N), MEHE 1 SFrh, ]

WA g >

I B (1)
e BRI R, ML MGIA A, |

1.(1)1, 2,3, 5,6, 10,

1, 2, 3,6, 7, 14, 21, 42 6

(2)6, 12, 18, 24, 30, 36, 42, 48
9, 18, 27, 36, 45 18

15, 30

© (3)0,2,4,6,8 1,4,7 0,5 0
©2.295 42 352 489 0.51 0.13 'RREg
3.370 14 6 0.6 497 72
“4.(1)A (2)B (3)B

5.(1) (84, 60) =12



8412 +60=12 =12 (=)
(2) (226 —40x3.2) =35=28(J0)
(3) (42—8) X15+10=61(J0)

S2uRmE S50 (2)
1
1. (1)

4
= (2) 4264 4.255
7

3
11 (4)? 16 15 0.375

(5)2 (6)% (7) 0.83 0.833

5 1 5
(8)? 17 2? ;
22.(1)D (2)B (3)C (4)C D (5)A:

3 <1)24;28—i 28;(24+28)—l
' Ty i 13

(2) [35, 15] =105

(105+35) X (105=15) =21 (#H)

(3) W&

(4)354+1=36(3) 42—2=40(A)

(36, 40) =4 RPN =IFHERER 4100,
1

(5) WHEHRE: 1+-8=—"

8
LM 149 =
1 1
<> 4k,
H3WnE  EIE S ILM
I.(1)B (2)C (3)D
(4)D (5)A (6)D (7)B
2.(1) x (2) X (3)V (4)x (5) X

3.7X12 — 7X3.5+2 + 7X45+2 =875 (ecm®)
18X8 — (3+18—3X2) X (8 —4) +2 =
114 (ecm®)

4.5%X8=+2 =20 (cm®)
(84+10) X (84+10) +2 —10X10+2 —
8X8+2 =80 (cm’)

5.[28%x20 + (16 + 22) x9+2] X8.5
6213.5 ( T-7¢)

6. (10=2) X (9+3) =15 (m")

7.2X (7—1) X2+3=27(cm)
27%27 =729 (cm®)

CHET7 3 S ST S
LDV (2)x (3)V 4V
2.(1) | (2) &F

.%i%’xfﬁ’

L (3)71 Tm+1 (4) ¥ 4

:3.(1)A (2)B (3)C

L4 Fdkmg R ARKHE, 8 Z/MIER 6 KA, 2
LA/

LSRR A, B AR B, 4]
LRI, AT RO 44, EBCE S A, BT
PAIAZSF-5 HUN i, ZH Ry R, 3 1
R 44>, 5 IEECH 54>, FTLIAAF
(1) W (2) (20—1) X3+ 1=358

L (3) (106 —1) 3+ 1=36 (1)

: 7.(10X10 —55) = (10+5) =3 (i&)
C10—3=7(iH)

Bes Iy

L 6.

LR DB ISEE
1.1 1 1 10 100 1000 10000

(1) =5 — (0.1 + 0.01 + 0.001 + 0.0001 +

0.00001 ) = 4.88889

(2) JFEx= (14 10+ 100+ 1000+ 10000 ) —
© 0.3X5=11109.5
P2.(1) JR A =2x4 — (0.1 + 0.01 + 0.001 +
:0.0001) = 7.8889

(2) Jx=36x5+ (0.12 + 0.56 + 0.02) —

(0.55 + 0.01) = 180.14

(3) JFx= (24+20+200) — (0.004+ 0.03 +

0.2) = 221.766

(4) JFxt= (1.125x8) X (0.75x8) = 54

(5) FEx=125% (054 + 0.67 — 0.41) =10

(6) Jfi=78x (24 4+ 71 +5) =780

(7) FERX=143% (788+2.12) —9.7x (738+

262) =46

(8) A A=1+ 045+ 0.56

B = 0.45 + 0.56

FEX=AX (B+067) — (A+067) XB

=067X (A—B)
= 067X (1+ 045+ 0.56 — 045 — 0.56)

=0.67
B ST
10 6

L1106
L 10%6 = 5X10 — 62 = 47
P2.2%6=(2+6) F2=4

L (6%8) =3X[(6+8) 2 =(3+7) +2=5
1 3.5A2=5X5—4X2=17

C XA 1T =5x—4X17 =4, ftfdx = 144

4240 6=5X24+3X6=130
103+ ®



y ® 30 = 5y + 3X30 =210, f#i5y =24,
5.(1)608=6+8—1=13

1307=13X7—1=90 4090=4X90—1=359

(2) x04=4x—1, NxO (4x—1) =5x—2=

28, fi#fHx=6,
6.1V5=14243+4+5=15

3VI5=3+4+5++17=150

2V 150 =2+ 3 + 4 +--+ 151 = 11475

L1 1 1 1
TEA= sttt s T ks :
1 _1_12 :
2 50 25

8. FEX = (14+2+3+--+ 2014 +2015) —
(1 4+2+34-4+2013) — 2015 = 2014 +
2015 — 2015 = 2014

L= K4 By ;

L(1)40 K%K (1000 —200) 40 =20( &)
(2)40 k7K (1000 + 200 ) +40 =30(F>) :

2. (6700 + 100) +—4000 = 1.7 (4}) :

3. (440 —310) ~ (40 —30) =13 (K /)
13X40 — 440 = 80 ()

4. (18 4+3) X7=147 (k)

5.200+ (150=3) =4 (#)

6. (30 —22) X24 =192 (k)

(30 —22) X28 =224 (k)
(224 4+192) = (30+22) =8 ()

7.(1) (204 25) X9 —225 =180 (k)
(2)225+25=9 ()

(3) 180+ (254+20) =4 (#)

B BRI
1.46 —x 10 7.5x 59 (46 —x)

fift s BECHEESZ T x XL,

75x —59 (46 —x) =10 x=21
2.304+-38 =8 (K)

fift: W—IAH x PR,

44x +32 (8 —x) =304 x=4
3. BEMRAKIEORA 2 43T x M.

2%+ (50 —x) X1 =16X5 x =30
4. ff. ) BIEA TR x A4

4 (x —20X3) —26 =3x— 90 x =176
5. IRIRSHAF x %/ .
2(26—3X2—x—x) =x x=238

JHEH: 20 — 8 +3 =15 (%)
k. 8 +3 =11 (%)
6. fift: WHBINA x Ao

® - 104

305=3+5—1=7 '
T BOXAREE TRy x K

LN
:1.56 48 32 56 48

L 4.12x2+4 =6 (1)

Lk
S 60 84 60

EFRHF L (BS)

5x =4 (x+10) x =40
40X 5X2 =400 ( \)

1
—x—9=—x—2
> 3 "

422 —9=12(K)

x =42

LR RO
S 1.b a 60 60 60—b 33 27
L 2.3 AE,

Spaer X Spapre = 4X9

_ _ 2
Spaer = Saprc Sapre = 6 cm

3. Sha00 = Sagoc = 28 cm’

S poc = 28X28+16 =49 (cm’)
S asep = 28 + 28 + 16 + 49 = 121 (cm®)

4P EF. ARMBERT, S, 6 = Saume =

12, Sasen = Spprn = 25, BT LA Syecrn =
Spere T Saprm = 12 + 25 = 37,

5.1%4% CF, BRI FIUiIE BCFD MHIE,
%ﬂ%%ﬁﬁﬁf%ﬁf, SADHF = SABCH’ FJTLJ KH?Z%I%J\
AT ARSET ABDC (TEAR, T AR SEZ 3843 T AR
H12X12+2 =72 (em’),

6. % AC,

Sps0c = Sapor = 6 cm’
Spucr=6+3X2+6=10 (cm’)
Spuse = 10+2X3 =15 (cm®)
Syw=154+6=21 (cm’)

FH3E [

32X2+ (56 —48) =8 (H})
8X (56 +48) =832 (TK)

2.60X2 — 50 4+ 60 = 130 (FX)
£ 3.3%x60 =180 (TK)

2X (180 —20) =320 (T2K)
(320 — 180 — 8) ~3 =44 (T3k)

60x2 =120 ( T=K)
1206 =20 ( T2k /i)

(20—4) =2=8 (TK/m)

5.49+ (56 +42) =5 ()

510 =50 ( T2%K)
18 S ]

60+~ (84 —60) =2.5 ()

£ 2. (700X 10 + 4000) <2 = 5500 ( %)

WM E . 550010 = 550 (K /4%)



WARTEHEE: (5500 — 4000 )10 = 150( K /43 ) :
é IEI\

CRIF T RAME—)
3. RIS x B
45 (x+1) =60 (x—1)
45 (7+1) =360 (T2K)
4. . WHHT x i),
506 =60 (x —2 —1)
5018 = 900 ( Tk)
51046=16 (K) 16+ (5—45) =32 ()
32X5 =160 (k)
(1046) X2 =132 (%)
6. fift: WFAEIGE T x 41
5 ( 10) =1 14
%0 x+10) = 10X %0
7.15+ (6+1) =2
450% (15 —2) — 250X 15 = 2100 (%)

BN RRA

1.40 B30, BUAELERMSSE 5 26
26— 54+18—5=34(N)
344+5=39(AN) 40—39=1(CAN)

2174+ 14—5=26(N) 46—26=20( N)

3.46—20—7—6=13 ( \)

x =17

x =18

x =18

18

16032 =5 (F)

- B

4.5 WRRECH 204~ 7 BORRRCH 144, B2 S 1

FBR R 7 S EC 2 4, PTLLRER: 7 5k 5 %%

BRIECA 20 + 14 —2 =32 (4>) .
5.(1)40—12—20=8 ( \)

(2)304 (40 —12—20) =38 ( )

40 —38=2(AN) :
6. 4 BIMEECA 124>, 6 MIfEECh 8 1, BEJE 6 Mt
BOUE 4 MARECE 44>, 6 5% 4 BIRSECH 12 +
8§ —4 =16 () , FrLlmEmZIMpSER
50— 16+4=38 (%), :
7.318 — (156 4+ 196 + 130 — 74 — 80 — 40 ) = :
30 (AN) 5
FZFHEAEE (—) (F—. “%gr)
0.6 0.667 2.4.704 4.695
.57 5757 575 5.757 5.7

1

3

4.4 2 TJEL 5.2 450 2.6
6.80 17.2 305 7.6 9.6
8
1
7
1

< < 9.7513246 10.3.6
.B 2.A 3.C 4.C 5B 6.A
.D 8C 9.C 10.B 11.B 12.B
.100 03 42 024 0.02 0.625
05 1.2 10
2.12.5 280 2.08

1.2 R R G

o = *

3.20.15 0.9 658 3.55

1 (mEm|)1 5 6 5 3 4 3 8

2. W% 3.M%

T, 1.14X720+ (1.4—02) =840 (£)
2. (1324+96) X2+3 =152 (JEK)
3.(98 —89) = (91.17 — 90.87) =30 (4 )
A 5Kz, (36—18)=(5—3)=09(JC)
kg (154+1.8—3%0.9)=-5=2.82(70)
% (15 +3.6—5%X09) +5=1282 (70)
5.0.7X600= (0.7 —0.1) =700 (4>)
6. W—Mg L SCHESESCH,, SE T —ANSCE &R
A AEEEL A, —I64ET 5390, SCH&
IR 31.5 J6. AEAAIIbRMI R/ e
(539 —315) 4 =56 (J0)
(2B ZNME—)
7.65.95— (10 —2) X1.9—8=42.75(J0)
2+ 8+ 4275285 =25 (T%k)

11.52+0.256+10 = 4.5
EZFEMIE () (5=, TIgE)
C1.45 15 3 15 2.1 2 4
3.30 90 4.2 4 5.48 6.28 7.56
8.30 9.4 10.¥ L WA 11.32 12.8
. 1.C 22D 3D 4D 5D 6A 7.A
8.C 9.B
. 1.(1) 310, 350, 130, 150, 530, 510
(2) 310, 315, 350, 130, 150, 135, 305
510, 530, 105
(3) 315, 351, 135, 153, 150, 105,
531, 513, 510, 501
(4) 150, 510
(DL E&HE 2 4T
2.0 3.14X9 = 126 (cm?)
(94+15) X6+2=72(cm’)
4.(1) 10X10=4%x3 =75 (c¢m?)
(2) (12—54+12) X3+2=285(cm’)
5.289576
L 1.100+3=33 (&)
. 33%x1 =233 (4)
TEC 3B3X2+1 =67 ()
2.(68—14—14) +2=20 (cm)
20X 12X2 = 480 (cm?)
3.13—4+1=10 (2)
(4+13) X10+2 =285 ()
4.12% (30 —12) =2 =108 (m*)
5.(32 —48%2+6) ~2=28(cm)
6.2, 3, 51=30 30—1=29

1 (4>)

105+ ®



48%29 = 1392 (FJ5K)

7. (32 —2) X28X56 = 47040 ( IT.)
2X28X 64 = 3584 (JT)
3584 + 47040 = 50624 (JC)

FEE s «

(72X2+8 —4) =2 +4 =11 (JEK)

11X8+2 =44 (SFHJEAK )
FFMIE (=) (BIoT)
1 1

05 2.— 17
12

Y HAZ 4%—2

s B/ NATEROE 63,
/A Ig&xe 2, BINVAFHUR 60.
RAHECE 13, HF/NARRUE 39,
5 25 2 18 5 2
"9

= T E oo
457 5 457 97 s
3.9 5 10 3 5

’

= <—
8 247 12 247 8 12
2 16 80 12 &4 2 12

2—:—:—, —_— =, 2_<_o
7 7 35 5 35 7 5
4. W% 5. W
4m s 3 oum
7 56 8 56 28 56
N 32 \
K935 3220 s 41
56 56 56 8 7 28
NNV E Zii =i 8

2.(54, 72) =18 5418 =3 (%)
7218 =4 (§%)

® - 106

=

EFRHF L (BS)

o

B

R

(20—1%x13) = (2—1)=7(H

3.[5, 41 =20 7K+ 204r=7H 207

4.(1) (200— 80 — 25 —48) =200 =—_
73 200

2) (48 +25) 200 =——

(2) (48 +25) 300

(3) TTTAOT RS A
TUSZIL? 47480 =L (sgRmE—)

: 80
B e -
: st — 2019X100010001 2019
TINT2020 100010001 2020
FFEIE (1) (SN, B¥IT)

2. (1)
(3) &F

3.12.5 4.0.6 520000 0.32 4300000

500 6.4 8 7.224 8312 9.4

(2) A2

CLX 2.X 3.X 4N 50X
. 1LA 2.C 3B 4.C 5B 6.A

7.B 8.C 9.D 10.A 11.D 12.A

L 4AX9224 (9415) X8=2=114 (c¢m*)

12X12 —5X6+2 =129 (cm®)

18 15 (ZBZRAME—, FHEIT)
(1)@ (2)D (3) kK
(4)D® (5@ (6)®

1.2X (12X3+12X1.2+2) =864 (m”)
86.4x1.3 = 11232 (kg)

2. IMRT 15 194 4 Fi,
HIA S AP, YEE AT REMEN
3.2X24 +2X (16 —2) =176 (EJK)
4 XS, WX EEC 1 W, Ak
B2 s andoxt el 2 W, A SRt 1,
DUJE R BRI 78 1 3 40, e i RE SR o
&
ik 18 HahWy 4t 6 SRR, JIR4 ki 2
B, (118 —6X18) +(8—6)=5(H),

/N 15

N 6 BRI : 18 —5=13 (H) ; &
BWRITHY 13 KA i, R 2m5E i HBoH R .

), I g

R 13—7=6(H),
il 5 W, igwE 7 ) e H
WIARZFEMEE (—)
C 1.0 0.692307 0.69 2.990 120
5 .
3.?? 4.3 5 6 15 0.6 (AWaE
FRME—)



6. L
12

18 900000

5.2, 3 1 3 7.8 5

8.23000 4.5
9. < > < <
10.24 11.2 @

~.1.C 2.D 3.B 4D
5A 6.B 7.C

— . 1.34 045 55 2.1

90 100 700
2.64 32 30133 R LIGERK
3.49 29 02 585 184 8.6l

. g

L 1.30X124+30X8+2=480 (cm®)

2.6X4=-2=12 (em®) (FEAME—)

. 1.308+4=7.7 (T%)
77+7=11(T%)

2. (36, 48) = 12, Ap/pBRK N 12 K,
3612 + 4812 =7 (E)

4 276

H =

3

34H= 2405 45240 =
4. FNFRUT .

h L) JEEL

1 13 108

2 12 104

3 11 100

4 10 96
Mif 4 H, A 10 H.

FFE s «

6+ (1.6X1.5) =25 ()
2.5 =2 B} 30 43
16 B 40 43— 2 B} 30 43= 14 B} 10 4>

WACE IR ()

2
—_ 1.5 3 15 12 1?(HUW£2§%§$”E*)

3
Z.T 140 1400000 3.155 4.6 2
5 L 6.6 20 7 L 13 7
© 3 3 ' ©5
8.2 L 9.45 10 2i 11. 8
. 2 4. -2 i

. 1.C 2.A 3B 4D 5B 6A
7.C 8B 9.C

— . L.157 047 15 42
20 09 26
2.525 6.03 16

100 32

e

> > = <

L= (=) 1.25 2.1.77

27N

Ti. 1.484.7+60~8.1 ( TK)

%87

3.62 4 6.09 119 0.76 5
L
2 (1) B x4+ 1

(2) 45 25

HL 142 CERAME, AR )

2.20X15 — 12X9=+2 = 246 (cm?)

L 1.968+4=242 CFJrK)

2. (100.8 —453) ~4 =13.875 ( T3%)

Db 1 (3124—5%14.8) +8=29.8 (J0)

2. (180 4 240) X120+2 + 240X 100 =
49200 (m®)

49200 )K= 4.92 /3 hit

51.66-4.92 = 10.5 (i)

3.[6, 8, 9]=72

727 =10 (J&) - 2 (R)

b 72 RAGEAHME, AHIEAHEEI =,

3 4
41 ——=—
77

ﬁw%e»§,ﬁu$m@Mﬁmo

FIifE: 20+ (12 —1) X3 =153 (4)
AN, 21+ (12 —1) X4 =065 (4)
65— 53 =12(1>) ZIEMISZL, £ 121

ALSCTEERE X 3 S

. —~_1.A 2.C 3B 4B 5D 6.D

7.A 8.C 9.C 10.D

313 7 415 60 525 =

0
()3.656 4.03 5.9.76 6.107

3
2. —
8

yAHI
___K_’F>) -

(BRI )

2.6X4.6 =276 (FIK)
3.40 R 32 HYANRECH 1, 2, 4, 8, NIKA
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. LS

(40, 32) =8 8x8 =64 (FIHEXK)

4.10X20 4+ (10 +20) x (18—10) +2 =

320 (“FHK)

32025 = 8000 ()

5. (97.16—32) ~1.8 = 36.2 (#EICHE)
6. (1) 5+87=92(AN)

R /IMIE: 8% 10 =280 ( A)
92—80 =12 ( A)

KM 12+ (12—8) =3 (%)

IMIE: 10—3 =7 (4%)

(2) B 5X30+ 87X (30+2)=1455(J0)

Hk: 9216 = 1472 (JT)

A, 20%16 4 (92—20) X 15 = 1400 (7T )
1400 < 1455 < 1472 5 ZZIiA 15 Z22E

KIS, Hp KR S b
AR TN IS

. .D 2.D 3.B 4B 5A 6B 7.A

8&A 9.D
14.C 15.C

2.% < 3.28 4.12.17

10. D
16.B

11.C
17.C

12.D
18.D

13.C
19.B

5. 8
25
10.37

. L

6.% 3 7.6 2 81 9.60

11.10 5

12.7 13.6

C1o(1)285 (2)13 slmg
2. (1)26208 (2) 1890
(3)1.7 (4)2.69

5 4
\1.10+12=?(75> 4+5=?(75>

4 .
%>?, {EBIE LRI
2. 24 — 22/ =2/F 2/ 4 61 =8}
8+24 L

3
3.64+4=16(%F)
4.103—85=1.8 (k)

® - 108

JFHE

70+1.6 ~ 43 (£)

EFRHF L (BS)

. 1.40 66 275 31

VL)< o=

1.8X7.6+2 = 6.84 (k)
5.18+3=6(dm) (6+4+4)X2=20(dm)
6.2.5X80+22~91 (T=k)
7.50X7.86—128 = 265 (JC)

B R i
10.1 1.64 1.1
137 1 0816 10 03 3.1 1.02
025 02 6 3 3 6
2.(1)26 (2)1.05 (3)12.08
3.(1)4 (2)94 (3) 100
4,(1)53%x4.1=2173 (cm®)
(2) 6.5X54+2=17.55 (cm®)
5. RELRHE HLTAT 28 ZRIR 28 ~—, 20 IR 20

0.1,

e 5t

A KEB. EIEC, EIJEDRY AT

% FIEAREBUREIEB. EIJEC. EIJED
w24 BKIEA, KIEB, KJEC, KJED
FIRASE, mME. (BEAME—)
(2)7.54 745

2. (1) 12,24,48 (2)71,73,79, 83, 89
3.(1)4 (2)®®

4. (1) FATIUIE AR

(2) FATIUIE S 2 4%

13 2
5.01) —, — (2) —
48 ° 16 5

(DY (2)x (3)x (4)x (5) X
C(1)A (2)B (3)C (4)C (5)D
. LLE%

2. 71— (8+6) X6+2 =42 (cm’)
JriE . 8—6=2(cm) 6X2+2=6(cm?)
6X8—6 =42 (cm®)

‘X X X )

3.(1) o0000®

oe0000O

(2) 30

C1.105+=13~8 (1)

2. (129 +45) =12 =145 (JFk)
3.225X2+30=15 (k)

4. FNRAT -
K/ 2% | /M 2% | dRae /N
0 9 36
1 8 38
2 7 40
3 6 42
4 5 44
FMEFHT 3 4%, /IMIFFLT 6 2%

5.50X2=100(2k) 240—100= 140 (k)
140 X 40+2 = 2800 (“EJF%)
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